
tutlbltltuO
fln LilLuL1 Lutr h tu Llullplt tu tlt uqLub n L

2017p. trntbrjpbnh 7-h phLl35 - U npn2dutt

<unnn+nFu
GnFIIUL3UL <ULtU3Lph 2017 GqUqULh P3nr.Abh bnnnP+ bftULIU3Uqh

qUSUNUUL UUUhL

flnrrltutrlub hurdulb pn 2017 p- h rntunbllurfr pJnrlbtr bnnnnry bntudulurllnrd Qtuununrlbf h

bludnrrntrbpfr q6nr['90,9 o/o-ntl,Otufuurnbu{1w691444.0 huq.4nLurlh {rnfuupb0 $uumugft dntmpbpp

lluqdbl b0 83104,4 huq. 4purrl: UbrfrurQruI b[urlnrrnObpp (htupllury[O bt4tudntrnObp [r unntppbp, n1

htupLlruyfr0 b[urrlnrrn0bp, bl.lurdnrrnObp Qurqfruul qnp6un0nrp;nr0fibpftg)24858,4 hwq. qpuil]t

rlrnfuupbfi {rururnug[r rJnrrnpbpp [uqrlbl b0 16518,8hruq. q1tLuil, lruunuprlu0 rnnllnup' 66,5%:

Tu2mn[u!ru0 rnpu0ugbprnfibnh qdnd hlurdnnn0bnn (1] qbmu[uO p;nt2b]tg mpudtu4pulnq

4nrnurgfruftrhp ) fiurfuuruburlrud 66585,6 hruq. 4prurln mnllbl hh rurlpnqgnLp;Lu$p t4tuil Llumupiltufi

rnnlnup'100.0 o/o,w)\ p{nrrl' huduhruppbgdur0 ulqpnrfipn{ rnpurrlru4n{nq qnunurgfirutr'66585,6

h uq. qp ur rI, n p p m p r{b1 | urdpn rpn rp1 udp, 14 urn rup rlutr rn n [n up' 1 00,0%:

1. Flnrgbfr {ruplur!tuL duufr bL1tudntunbbpp

2017 p-fl bnnnp+ bnurdulul.lnrd plnrgbtr {urplu[utr duunrlLufuuunbur{urb t?91444,Ohuq.ryptud
bl4turlnLun, {rurumurg[r ilnu"npbpp l1uqilb1 b0 B3104,4 huq. qnuU 1.1uil lrurnuprJurI tnnInup' 90,9 %:
Ubr.hru[u0 blludnrr"nfibpp ( hurpLlurl]r0 blrudnrrnlbp t unnrppbp, n1 hrupl.pu;ltO bl.ltudntm0bp)

0rufuurnbu{ru6 tp 24858,4 hurq. 4purd, r.huur"nuglr rlnrrnpp t4ulqdbl b 16518,8 huq.4ptud lqtttt)

Quunuprlu0 rnnQnup' 66,5 %: \w2nnOulur0 r"npur0u$bprn0bpfr q6n{ bl4tudnrrn0bnn (11 qbmu\ruh
p;nrgbf g rnpurlrl4prlnq 4nrnurghu) 0uluurrnburlur6 66585,6 hruq. 4pudp 66585,6 huq. 4putilp
Lnn{bl I urlpnrlgnrp1udp Qrurl lurnrupdtuO rnnlnup' 100.0%:

1) lnqh hunll

lnrl[r hrupl.lh qdn4 b[rudnrrn0bpp 2017 p-h bnnnnq bnudulu!nLrl Oufurulnbu4u6 hn 9177,2hwq.
qnLuil, {rururnrugfr dnrr"npbpp lluqrlb;. bL 6299,9 huq: 4puil l.1urd lurrnurpilrufi rnnl1nup' 68,4 %:

2) Qnt;purhunl.t

Qnrlpurhupl;p hurJrutlph 4un1url1u0 mupur6pntD qmO{nq 2bOpbpft [.2f Ontp1nt00bp[t htudutp

0nrfunrmbu{rud tp 500,0 huq. 4puil, {ruumugJr f nu"npp t4urqilb1 t 285,2 huq. 4ptutl [utd Qumupdtufi
unnlnup' 57,0 %, Jru! rf nfuu4purdfrgngtrbpfr hurtlup 0tufutur.nbu{tu6 In qnr1purhup! 6280,0 hu,rq.

nnud, {ruuunrugfr rlnrmpbpp Qtuqdbl h0 4123,8 huq. rlpurl, Uurl l4urrnrupdur0 rnnQnup'65,7%:

3) ShquLltu0 mntppbp

Sbqrulru0 rnnrppbpfr q6n4 bLlu0nrrn0bpp bppnp4 bnurlulrut4fr ptrpurgpnrd 0urfuurnbur.lru6 t1597,2
hruq. 4prud, rfruumugfr dnrrnpp Lluqdbl | 611,7 htuq. 4purd Llud Llumupdut0 unn[nup' 102,4 %:

4) U;1 bt4tudntmfibp
U1u bl4udr"nurrnbuur[2 2017p-l bnnnnqbnturlulurl.qh ntrpurgpnLd Ourfururnhu{ud hn 0urfurur"nbu{ru6

fp 8304,0 huq.4prutl, {rr.uumugI dnrmpp 1.1uqdb1L5198,2 huq.4pr.ud Qurd !ruunruprJru0



-'l

nrnlnup'62,6 %,u14 prlnul hnqf {urpdur{6urpp trurfuurrnburlur6 fp 4384,0 huq. qpurrl,r.hururnugfi

dnrr.npp l4urqrlnrd t2176,4 hruq. rypurl, Qur.nurptltutr rnn!nup' 49,6 %,qnuph r{tupduQurlnrplurtr u{turtln

Lgrfuurmbu{ur} hn 20,0 huq.qpud, thruuunurg[ rJnLunp L1rurnurpr{b1'23,0 huq. rppurl, Llurunuprlutr

rnn14nup'115.0 %, rnbqurlutr rl6tupLbpp trufutuunburlurb b 3000,0 hurq. qpturl rJptuuunurgI dntunpp

l4qrqdnLrl h'1928,5, lyrgrurprlurtr unnl4nup' 64,3 %,opbtrpnrl lt ,l[ [ptu{urlutr ru!unbpn{ uruhrlurtrulub

blurlnrmtrbpp tlufuruunbu{rub 900,0 htuq. 4purlh afrdurg qhuruunrugfr rlnLunpp !urunrup{b1f 1019,1

h urqr.n p qpull, Llur u ur p durtr ! urn u p dutr m n ! n u p' 113,2 %:

,tlurhnLumr.ulfrtr $nbrlfrg $ntrryurlfrtr plnLgb l4tuunurptlnrl huunlurgnLrlp btufuurrnbu{tub fp 700'0 huq.

rppurl,npp th rnn4bL bnnnnrl bnudu.1ul.1h nt prugpnLd, llr.r.rr"nuptluL unnlnup'0 %:

5) rlur2rnnfiurlu[ p0prugfit4 rnpurOu$bpm0hp

'rtru2rnnOul1r.u[ rnpu0ugbptnfibnh q6n4 blrudnLrnfibpp (]1 rqhmu\urh plntgbftg mpuftu4p{nq

4nrnugfrru) fiurfururnburlurd 66585,6 huq. rppuiln huq. 4nudn LnnLlbt t udpnqgnrpludp lurrl
t4urrnurpdufi rnnlnup' 100.0%, u;4 p{nrd' hurlurhupphgrlu0 ulqpnr0pn{ mpuilut4n{nrl
rlnunurf[iubbpp'66585,6 hr.uq. 4pud,npp mn{hL k tudpnqgnlp.;rudp, QuunuqtluL rnnl;nup'1A0,A%:

2. Flnrgbfr r{urpltuIurtr druufr 6ufuubpp

PlnLgbfr r{urp1ulrutr rJtuufr 6ulfuubpp bnnnnrl bnrurlulurlh ntrp,ugpnul 0ufuturnbu{tu6

1p91444,0 hurq.4purrI 6ufuu, r.lruurnrug[r 6ufuurlb1 1,73453,6 huq.4pud t1uil t4urnurpiluU

rnnllnup' 80,3 %:

1) Curn qnpdun0ultufi 4ururu[upqdruO durfuubpp lumurpt{b1 h0'

C[4hur0nrn p0nuph hrutrpru;[fi durnru;nrp;nr0fibpfr q6n{ dufuubpp 2017 p-fi bnnnnry

bnurrlulurQh nbpu,gpnLrl trufuurunbur{ub 54680,0 hruq. 4pturlh qhdug {rruurnuglt Otufuup

llruqtlbl h 43031,4 huq.rypud Llurr"nrupduU rnnlnup' 78,7 %:

2 pn u ru2p gn rpl tuL h u dur p tr u fu ur rn bu {ru8 lp 27 O,O h urq. 4p tu rJ 6u fu u, tltu u r"n ur g ft

!urunnrpr{b1f 200,0 huq.4purrl 6rufuu, [,1urunurpdurL r"nnLlnup' 74,1 %: :

Cppurtlu dfrgurr{ulph qu2r"nu{utrnrplutr q6n4 6ufuubpp Otufuurnbu{ut6 tp 12000,0 huq.

4nLuU, rfiururnugfr 6ufuu LlurnuprlbL t 9900,0 huq. 4pud, [.;uurupdru0 mn!nup' 82,5 % ,w1ry

6ufuup lurrnruprlbl I htudu4trpfr urrpuhurtrnrp1nrtrp Iput4utrurgbb1nL hrudup:

Ftruluprutrtulfrtr 2frtrurpupnLplnrtr Lr tlnrlnLbull brunurjnLplutr hudrup Lrufuulunbur{ub 6triuup

tiuqtlnrrl h 1950,0 hruq. rypurrl, r.huumugh burfuup 852,5 hurq. r1purtl [ lturnupdutt
unn!nup 43,7%,w1q, p{nLd r.hnrlngtrbpfr lnruur{npnrplurtr qbn4 6rufuubpp 852,5 hruq. rlpurd

[lurunupdr.utr LnnInu1' 43,7 %:

Unnrpuquhnrplutr hudr.up trrufuruunbu{urb hn 300.0 huq. rlpurl 6urfuu, rrhurur"nuglt btufuu 1]t

!urmup{b1:
gppnrplutr hurdup 19884.0 hurq.q-prurlh qhdug r.f uuunrugJr durfuup Qurqrlbl | 18079,7 huq.
qnud, Qurunurprlutr rnnlnup 90,9 %,w1q prlnLrl trurfuturpqpngullutr lppnLpltutt htudup

trufuruunburlud fp 14814,0 hruq. rypuil, rJpruuunuglr t,1urnup{b}14029,7 hurq. rypturl 6ufuu iltud

!urnurpduL rnnLlnup' 94,7 %,tupmuryqpngul4urtr ryururnfrurpur!nLplurb hurdurp trurfuurunbur{rl6

En 4740.0 huq.4purd6ufuu, nnh {rruurnurglr Sufuup QurqrJbl 13720,0 hurq.4purrl

luunrupdurtr rnnQnup'78,5%, lppnrplutrp mpurtluryntlnryodrutrqurtl burntulnrplnrtrtrbpfr htudup

Ltuiuuunbur.{ub fp 330,0 hurq. qprud 6tupu, lfurur"nurgfr Qur"ntupribl h 330,0 huq. rppud 6ufuu

lirurl Lluunurprftutr r"nn! nup' 100,0%:

Ung]rupulutr qur2rnqrltrnrplutr q6n{6urfuubpp trurfuurunbur{urb fp 1500,0 huq. 4prud,
rfrruuunurgfr Lluuntupt{b1f 1340,0 huq. qputl Sruiuu 14urd l.lurunurptltub mnQnup' 89,3%:
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2) [uLn LnLLnbuurqhLnuqurL ryurur-r-rlurpqrftutr 2017 p-f plnL2btr bnnnn+ bnrlrlulurlfr

ptrpugpnrd lurnup{bt h.

ur) g2fuurunurtrpfr r{updurnpnrplutr hudup trurfurur"nbu{urb fp 37600,0 hruq,rypurrl Srufuu, r.hruuunurglt

tAuunupu{bL h 32081,4 hurq. qnuld 6ufuu l4ud l4uluntuprlultr unnQnup' 85,3%,

p) dunulnrplnLtrtrbpfr Lr urqpr.utrptrbnh 6bnp pbprluL hudtup Ltufuruunbu{urb fp 17130.0 huq.

+nutLI bufuu , r.huur"nugfr Qurr"nurp4bf b 10793.5 huq. rlpud 6rufuu Llurrl 14urr"nupdutr unnLlnup'

llurnupiltuL unnlnuP' 63,0 %,

q) nLpug[1.1 rlprudur2trnpfrUUpp hurlultrpulhtr nt urntrr"npullrtr QuqrJwlbptqnLplnLLtrbpfrtr'
trurfuurnbur{ur6 ti Z41Zq.O hr.uq.ryptud,{'rr.uuunuglr burfuup luqdb1 t29129.7 huq. rypuil

tlurd !urunurpilurtr unnInup' 85,7 %,

4) ungfrurltuLlurtr urqurhnrlurqpnLplurtr 6tufuubpp' ur14 prlnrtl plnrgbfig ur11 trquruunLbpp' 
burfiluunburlub fp 1500,0 hurq. rlpurl, {rr.uumurgfr LlurmunrlbL h 1340,0 huq. rypurl

burfuu lurl lurntupdurb mn[4nup' 89.3%, Q*

b) u1L dtufuubpp trufuurrnbur{urb fp 1090.0 hr.uq.qpuil, qhuruunurgfr Sufuu lurnurp{b1109.0 huq.

qnLULI lruunruprfuutr rnntlnup' 10.0 %:

3. F1nLgbfr $ntrrlu{hL duu[ bt1urrlnLrnLbpp

FlnLgbfr gntrryulfrtr duufr bt,;turlnnntrbpp unurgugb[ btr r"nupbullq.ph r.uqur"n rltrugnpry.[g'5885,0 hurq

4nurd-Lr {tuplurtlub plnrgbfrg $ntr4urlfrb plnLgb tlurunup{nrlhurnlrugdurtr hur2t{frtr,npn bnnnnq

bnurlulu!h nt,plt gpnLd Quqrlnrd h 700.0 huq. 4putl:

4. FlnLgbfr $nL4urlfrtr rluufr 8ufuubpp

t-&nrilnrtrltutr hurdtultr pfi 2017p.-h bnnnn+ bnurJulul4h ntrpurgpnLrJ p1nr2b[ $ntr4urlfrtr rJurunr{

trurfuurr"nburlu} bF 6585.0 hurq.rypud brufuu,r.huurnugfr 6urfuup Llurqtlbl h 5363,8 huq. qpud

lud ltuunupdrutr unn[.1nuP'81,5 %:

1) .luplurlutr uurppur{npnrdtrbpfr dbnp pbprlutr hurdurp trufuruunbu{ub fp 1200 hruq.rlptud,

rlruuultugfr 6ufuu lurr.nupr.lbl f 1040,0 huq rypud lurd lurunuprlurtr unnlnup'86,7%:

2) Cbtrpbpfr Lr 2frtrnLplnLbtrbpfr l.luur4frr.nul rlbputrnpnqilurtr hurrlup trufuurunbur{ur8 fp 4885'0 huq.

+nurl 6uufuu, t4uunurp{bt h bruluu 3840,8 hurq. rypurd, Llurunupdutr unnl4nuT'78,6 %:

3) n: LlnLplrt4utr utaunfr{trbpfr qbn{ 6ufuubpp' Lurfuurunbu{tu6 [p 500 hruq.rlpud, rf wurnuglr

}nrfuu Qurnuprlbl | 483,0 hurq 4purrl l4url tlur"nurptlub unnlnypl96,6 %:
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